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TEMA: IIpakTuueckas paboTa(2 gaca)

17. Joxaxwure TOXIeCTBO: Sina+sinP+siny—sin(a+p)cosy—cos(a+f)siny=
a+f . P+y.. a+y
sin sin ;
2 2 2
18. Pemure cnemyiomyie ypaBHEHUS:

1) 25sin%x + 100 cosx = 89. Omeem: x = +arccos0,8 + 2nk, k € Z.

2) cosdx + 2sin’x = 0. Omeem: x,, = n+nk,i—+nn k,nel.

4 2 6
3) 5(1 + cosx) = 2 + sin*x — cos*x. Omeem: x = iz—;+2nk, ke Z

=4sin

4) 6sin®x — sinx cosx — cos>x = 2. Omeem: x,, = ——~+nk; arctg§+ nn, k,n e Z.
= 4 4

5)sin2x=cos 2x—sin’x+ 1. Omeem: x, , = arctg(-1 - \/5) +nk; arctg(-1+ \/_3-) +mh;

k,ne Z.
6) 4sin3x+lcos3x=3. Omeem: x,, = 2arctgz+M ZangJﬂ, k,
3 +" 3 g g gy
nel.
V3 1 n  7mk, 6 Sm

7) sm3x+75m5x+2c055x 0. Omeem: x,, = - ~—+nn, k,neZ.

840
8) cos2x = cos’x — sin’x. Omeem: x,, = Z+nk' _Z+(_ )"%Hrn; k,nel.

9) sin®2x + cos*2x = 1. Omeem: x——§+( 1)’<;t "2" kel

23x n k. n, 2nn,

10) cos? 2+cos —sin?2x-sin?4x=0. Omeem: x5 = 4+7, 5+ 5 -
77t i ,k,n,me Z.

11) sin?(2 + 3x) + cos (% + 2xj = c0s?(2 = 5x) +sin? (% - 6xj. Omeem: x, =
=X 24mn +2+1t—"1 m,n e Z.

4 o

12) cos(22°-t)cos(82° —1)+cos(112° - £)cos(172° —t)——(smt+c0st) Omeem:

X —%+(—1)k%+nk kel
13) sinxcos2x+cosxcos4x:sin[%ﬂxjsin(%—bcj Omeem: x = ——=+7= L

12.4 39
kel



